2025_DSE_ECONOMICS_Mock Paper I (ANS)

1. A 16.B 31.D
2.C 17.B 32. A
3.D 18. A 33.C
4.C 19.B 34.C
5.A 20.B 35.D
6.D 21.D 36.B
7.C 22.D 37.C
8.C 23.B 38. A
9.B 24.C 39.D
10. A 25.C 40.B
11.D 26.D 41. A
12.C 27. A 42.C
13.C 28.D 43.C
14.D 29. A 44. B
15.B 30.B 45.B
1. (a)No (1Marks)

The opportunity cost of taking to hotel is its Money cost + Time cost, and the opportunity cost of
taking taxi to hotel is its Money cost + Time cost. Although the Money cost of taking taxi is higher
than taking bus, however the time cost of taking taxi might lower than taking bus.

(2 Marks)

(b)(1) The opportunity cost of taking bus to Japan is the value of taking taxi. bus is crowed, doesn’t

affect the value of taking taxi. (2 Marks)
(ii) taxi fare increase, will decrease the value of taking taxi. (2 Marks)
2. Yes. (1 mark)

It involves current production.(1 mark)
It represents the value of services provided by the Hong Kong Examinations and
Assessment Authority which are resident producing units of Hong Kong. (1 mark)

3. The law states that when more units of a variable factor are added successively to a given
quantity of fixed factors, holding technology constant, the marginal product of this factor will
eventually diminish. (3 marks)

Yes.(1 mark)

*corect table one mark(1 mark)

When the 6 th unit of labour (2 nd unit of labour is on leave) is added to the machinery, the
marginal product eventually decrease from 50 units to 40 units (1 mark)

4. -input prices are flexible in long run, can change the output level to potential production level.
(2 marks)
-In different price level, the potential output level remained unchanged. (2 marks)
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5.(a) Positive externality / divergence between private and social benefits (1 mark)
The expansion of the Three Runway can lower the aircraft emission which beneficial to
the environment/ residents nearby (external benefit exist), and the Hong Kong Airport

Authority does not receive any compensation (1 mark)
So marginal social benefit is greater than marginal social cost, the numbers of aircraft

using the system is lower than the efficiency level. (1 mark)
(b) The Hong Kong Airport Authority may ask for compensation. (1 mark)

The marginal private benefit increase, thus the divergence between marginal social
benefit and marginal social cost is narrowed. Inefficiency may be relieved by the market. (1 mark)

(c) the way of asking for the compensation, may produce another cost, such as hiring a staff to
receive the compensation, if the cost is hiring than the external cost, there might be more
inefficiency.

6. (a)

()

- Improves the work incentive of the the delivery driver. (1 mark)
- Possibility of getting higher income with more effort/better service (1 mark)

[Mark the FIRST point only]

(i1)
- Cost of calculating wages is higher. (1 mark)
- Cost of monitoring the service quality of deliver driver is higher. (1 mark)

[Mark the FIRST point only]

(b) No (1 mark)
Law of demand: When the price of a good rises, its quantity demanded will decrease,

and vice versa, ceteris paribus. (1 mark)
When a fixed amount of delivery fee is added to each order, the relative price of

higher-priced product (in terms of lower-priced product) will drop. (1 mark)
According to the law of demand, people will buy relatively more higher-priced product.

The ratio of lower-priced product to higher-priced product will decrease. (1 mark)
7. (a)

In Country A, the opportunity cost of producing 1 unit of watches = 10 / 40 = 0.25 units

of toys (1 mark)
In Country B, the opportunity cost of producing 1 unit of watches =15 /30 = 0.5 units

of toys (1 mark)
(b) If each country specializes in producing the good in which the country has a lower

opportunity cost, the total output will increase. (2 marks)
Country A will export watches because it has lower opportunity cost (i.e. comparative

advantage) in producing watches. (1 mark)

(¢) There will be no mutually beneficial gain from trade when the transportation cost per

unit of watches is larger than or equal to the total gain of trade per unit of watches. (1 mark)
Minimum transportation cost = 0.5 - 0.25 = 0.25 unit of cars. (2 marks)
i,
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8

During the recession, the demand of normal good will decrease. (1 mark)
when the new QD- local QS is smaller than the quota volume, the quota will become ineffective.

(2 marks)
Local consumption and import volume will decrease, Local production and government revenue
remains unchanged. (2 marks)
correct graph (3 marks)
9. (a)

Old min.r: 400/1600 = 25%

New min.r: 25% - 15% = 10%

Change in money supply: Change in cash held by public + Change in deposits (1 mark)
Change in cash held by the public: 500m - 500m = $0m

Change in deposits : (400m x 1/0.1) - 1600m - = $2400m (1 mark)
Change in money supply: $0m + $2400m = $2400m (1 mark)
(b) - There is no cash leakage. (1 mark)
- There is sufficient demand for bank loans. (1 mark)
- Banks don’t hold excess reserve. (1 mark)

[Mark the FIRST point only]

(¢) A decrease in the minimum reserve ratio
- will lead to bank gaining reserve / The acutal reserve is greater than the required

Reserve (1 mark)
- Bank will lend out the excess reserves. (1 mark)
- The amount of money (bank loans) will be re-deposited into the banking system. (1 mark)
-The process will go on and on until there are no excess reserves. (i.e. the actual

reserves are equal to the required reserves). (1 mark)

[* This 4 th mark will be awarded only if the first three marks are already rewarded. *]

(d) Verbal elaboration:

- decrease in the minimum reserve ratio increases money supply (1 mark)
- Resulting in a drop in the interest rate. (1 mark)
- Consumption & Investment expenditure increases and aggregate demand increases. (1 mark)
- Widening the inflationary gap (1 mark)
Indicate in the diagram:

- Correct initial inflationary gap (1 mark)
- AD shift rightward (1 mark)
- Correct new Y with a larger gap (1 mark)
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10. (a)
Only four guests will be allowed in each hotel or guest room (restrict gatherings and

strengthen infection controls) --> Decrease in demand (1 mark)
Hotel operators strictly implemented the rules and bought many latest disinfection

equipment --> Decrease in supply (1 mark)
The magnitude of decrease in supply is larger than the decrease in demand (2 marks)

(b) - Market information is imperfect (e.g. customers do not know the price or the quality

of services of each hotels agents) (2 marks)
- Seller provides heterogeneous services (e.g. different service quality) (2 marks)
- Sellers engage in price competition. (e.g. not the same price for the same package/

provide discounts to different customers) (2 marks)
- Sellers engage in non-price competition (e.g. advertising) (2 marks)

[Mark the FIRST TWO point only]

(ci) Hotel accommodation tax is an indirect tax. Re-imposition of hotel accommodation

tax will increase the indirect tax revenue. (1 mark)
Ratio of direct to indirect tax revenue will decrease in Hong Kong. (1 mark)
(cii) Regressive tax. (1 mark)
Higher-income earners pay a less than proportionate amount of tax /

the tax rate decreases as the income increases. (2 marks)

(ciii) income inequity will become worsen, the tax will be a higher burden for the low-income
group, compare to high-income. The income distribution will be worsen. (3 marks)

11. (a)

Unemployment rate = number of unemployed + labour force x 100% (1 mark)
Unemployed population remain unchanged (1 mark)
Labour force decrease (1 mark)
Unemployment rate will increase (1 mark)
(b) It increases the geographical mobility of labour in Hong Kong (1 mark)
Under the scheme, youth workers from Hong Kong can work in the cities in Mainland

more easily. (1 mark)
Workers are more willing to travel to other places for work. (1 mark)

(c) Under the linked exchange rate system, RMB also appreciate against HKD

Thus, the import price (in terms of Hong Kong dollar) increase (1 mark)
( Verbal elaboration:

- the increase in import price (in terms of HKD), the quantity of imported electronic

equipment decreased

- If demand is inelastic, (1 mark)
- % increase in import price > % decrease in import quantity

Indicate in the diagram:

- Price increase and quantity decrease along a demand curve (1 mark)

- Correct position of ‘gain in import value’ and ‘loss in import value’ (1 mark)

- Area of ‘gain in import value’ > Area of ‘loss in import value’ (1 mark)
—4—
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(d) (1)- some production is not involved in the current year
- there have some import material need to be deducted. (3 marks)
(i1) Investment expenditure (2 marks)

(e) Marks award for effective communication (EC: max 2 marks)

The maximum marks for content is 12 marks. Answers may include the following:

Current account balance:

There are more integration with other cities in Greater Bay Area cities can attract more tourists
visiting Hong Kong, the export of services will increase. The invisible trade balance will improve
which would enlarge HK’s current account surplus (or reduce its deficit).

At the same time, the completion and operation of Liantang port allow both passengers and
vehicles linking city to and from Hong Kong or other cities in Greater Bay Area, import of goods
and services will also increase. It would reduce HK’s current account surplus (or enlarge its
deficit) .

The effect of current account balance is uncertain, depending on the increase in the value of
exports of goods and services and increase in the value of imports of goods and services.
Potential output:

- The imposition of youth employment scheme will reduce the quantity of labour in Hong Kong
while the completion of Liantang port will increase the capital in Hong Kong. The effect potential
output is uncertain, depending on the decrease in labour and increase in capital.

Labour shortage:

When more graduates would decide to work in the cities in Mainland because of the better
prospect in working in Mainland, it would increase the opportunity cost in working in Hong Kong.
They are more willing to work in Mainland. Labour force/supply decrease, the employers is much
more difficult to hire the workers, the existing labour shortage would become much more serious.

Effect on other variables:

Fiscal balance: The government expenditure will increase. The expansionary effect caused by the
increase in investment may increase the aggregate output level, which increase the tax revenue of
the government.

Less quantity of labor in Hong Kong reduce the salaries tax revenue, which worsen the fiscal
balance.
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(e) - Importation of foreign labor (2 marks)

- Provide childcare services to attract housewife (2 marks)
- Reduce the salaries tax rate to attract non-labor force (2 marks)
Marks

2

Performance

Supports arguments with the source/data and appropriate economic theories.
Presents relevant material.

Presents well-organised and coherent answers without repetition of ideas.
Uses language that expresses ideas clearly and fluently with appropriate use of
words/terms/symbols.

1

Presents arguments with some support of the source/data and economic
theories.

Present some irrelevant material.

Presents answers in a less organised way with some repetition.

Uses language that conveys a clear message with some inappropriate use of
words/terms/symbols

0

Presents arguments with no support of the source/data and economic theories.
Present material unrelated to the gist of the question.

Presents inconsistent arguments.

Express limited ideas with inappropriate use of words/terms/symbols

[Mark the FIRST point only]
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12. (a)Indicate in the diagram:
- correct positions of P, and Q. (1 mark)

Unit price

MC

P |>Deadweight loss

-

MR D
0 o Quantity
(b) (i) Verbal elaboration:
- Output will decrease and price will increase. (1 mark)
Indicate in the diagram:
- correct position of MR (1 mark)
- correct positions of Py, and Qy, (1 mark)
(i) Verbal elaboration:
- It is inefficient. (1 mark)
- At Qp, the marginal benefit is greater than the marginal cost. There is a deadweight
loss.
(1 mark)
Indicate in the diagram:
- correct position of the deadweight loss (1 mark)
(c)
Yes. This is because the cost of serving students and non-students is the same, but students
can buy the same product at a lower price. (3 marks)
(d) (i) Two forms of horizontal agreement:
- price-fixing T
- collusive bidding (bid rigging)
- market division (market allocation)
- sales and production quotas 1@, max: 2 marks

- joint boycott
- unfair or discriminatory standard
- any reasonable answers
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(i1) Yes. Justifications for competition policy:

- Competition policy can provide a legal basis on which anti- .
competitive practices are prohibited. A government has the
power to investigate and sanction businesses for their anti-
competitive behaviours.
- Competition policy helps a government establish the
institutional framework governing competition and promoting
market discipline.
- Competition policy provides a level playing-field for business.
This promotes fair competition and improves the business 2@, max: 4 marks
environment of the economy.
- Competition policy increases transparency by giving firms
clear instructions about what anti-competitive behaviours are.
- Competition policy enables firms to compete in an open and
fair market. Firms then tend to have a greater incentive to
improve product quality, lower product costs and prices, as well
as raise the efficiency in using resources.
- Any reasonable answers
OR

No. Arguments against the introduction of a competition policy:
- Introducing a competition policy will increase business cost
and is unfavourable to small and medium-sized enterprises.
- Introducing a competition policy will interfere with the
functioning of a market and may put local firms at a
disadvantage when they compete with multinational
corporations.
- There are alternative ways to enhance competition, e.g.
controlling the monopoly through regulation.
- Any reasonable answers

1

2@, max: 4 marks
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13.

Indicate in the diagram:

Good Y (units)

100

80

60

— 40

Import

volume 20

A: Production point after trade
B: Consumption point after trade

- U

Good X (units)
20 40 60 80 100

- production possibilities frontier (PPFy): a straight line with x-intercept equal to 40 and y-
intercept equal to 50 (1 mark)

(b) ()

(i)

() @

(i)

Country A’s cost of producing 1 unit of good Y = (40 / 50) units of good X
= (.8 units of good X
Country A’s cost of producing 1 unit of good Y is lower than the terms of trade,
implying that Country A has a comparative advantage in producing good Y and it will
export good Y.

(2 marks)
Indicate in the diagram:
- consumption possibility curve (CPCy): a straight line with x-intercept equal to 50
and y-intercept equal to 50 (2 marks)
Indicate in the diagram:
- production possibilities frontier (PPF;): a straight line with x-intercept equal to 80

and y-intercept equal to 60 (2 marks)
- consumption possibility curve (CPC)): a straight line with x-intercept equal to 80
and y-intercept equal to 80 (1 mark)
Country A’s cost of producing 1 unit of good X = (60 / 80) units of good Y

=0.75 units of good Y
Country A’s cost of producing 1 unit of good X is lower than the terms of trade,
implying that Country A has a comparative advantage in producing good X and it will

choose to export good X. (2 marks)
(ii1) Indicate in the diagram:
- production point: (80, 0) (1 mark)
- consumption point: (40, 40) (1 mark)
- import volume: 40 units of good Y (1 mark)
—9—
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(e) (i) Canada, because its HDI rank is the lowest. (1 mark)
(i) Possible reasons:
- China has a shorter life expectancy.
- China has less years of schooling.
- China has a lower gross national income per capita.
- Any reasonable answers

1@, max: 2 marks

—10-
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